PHYSICS

BOOKS - MAXIMUM PUBLICATION

EQUATIONS OF MOTION

1. Draw position -Time graph . What is the

nature of the graph?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oDLKXIKPRnvu

X~ axis, time (s) 0 1
Y- axis, position (m) | 0 1 2 3

N
w

° Watch Video Solution

2. Using the data given bilow, draw a position-

time graph

Time (s) 01234576
Positon(m) {0 |2 |4 |6 |8 |10 12

o Watch Video Solution



https://dl.doubtnut.com/l/_oDLKXIKPRnvu
https://dl.doubtnut.com/l/_zkoZc0u1zz1g

3. The position-time graph reading the motion
of a car is given . Find out from the graph the

distance travelled by the car in 8s.

o Watch Video Solution



https://dl.doubtnut.com/l/_iSXTIlGyIDEX

4. The velocity of a body starting from rest is
20m/s in the 4th second and 40m/s in the 8th
second. What is the distance travelled by the

body between the 4th and 8th second?

o Watch Video Solution

5. A car come to rest when brake was applied
. m

for 4s to get a retardation of 3—2 .Calculate
S

how far the car would have travelled after

applying the brake.

| & |


https://dl.doubtnut.com/l/_IzgmZLk85QY4
https://dl.doubtnut.com/l/_pmRr8zZcICzR

| ¥ Watch Video Solution |

6. If the velocity of a car moving with uniform
velocity changes from 20m/s to 40m/s in 5s

What is the acceleration of the car?

o Watch Video Solution

7. If the velocity of a car moving with uniform
velocity changes from 20m/s to 40m/s in 5s
What is the displacement by the car during

this time interval?


https://dl.doubtnut.com/l/_pmRr8zZcICzR
https://dl.doubtnut.com/l/_GcfLcMQpZoxv
https://dl.doubtnut.com/l/_QQjEAjWfdcWd

° Watch Video Solution

8. If the velocity of a train starting from rest
becomes 72km/h in 10minute.

What is the acceleration?

° Watch Video Solution

9. If the velocity of a train starting from rest

becomes 72km/h in 10minute.


https://dl.doubtnut.com/l/_QQjEAjWfdcWd
https://dl.doubtnut.com/l/_r5SRcs7imCYW
https://dl.doubtnut.com/l/_ofmUWYhDH0nZ

Calculate the distance travelled by the train

within this time interval.

° Watch Video Solution

10. An object starting from rest travels with an

acceleration of — . What will be its velocity
s

after 3s?

° Watch Video Solution



https://dl.doubtnut.com/l/_ofmUWYhDH0nZ
https://dl.doubtnut.com/l/_VeBNK6tCBLwt

11. Draw position -Time graph .

o Watch Video Solution

12. Draw speed -Time graph .

° Watch Video Solution



https://dl.doubtnut.com/l/_xycakTFAzdDn
https://dl.doubtnut.com/l/_5LDKbQvZfreD

13. Examine the graph and answer the
following question.

Is the motion of the object is uniform/non

uniform
Y.
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O Watch Video Solution



https://dl.doubtnut.com/l/_5hfcZtZXRCOy

14. Examine the graph and answer the
following question.
Say whether the acceleration from O to A is

uniform? What about from A to B?
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o Watch Video Solution



https://dl.doubtnut.com/l/_W2Fa7vYejAor

15. Complete the table by analysing the graph

P

-, Pasition of thé *|  Natare of

object in_the' geaph!  the motion
u o~ ;!Jggic){:ity'

increases

aeaiy

4., Velocity {m)-

o Watch Video Solution

16. If a velocity of a train which starts from rest
is 72km/h (20m/s) after 5 minute, find out its
acceleration and the distance travelled by the

train in this time.


https://dl.doubtnut.com/l/_r1Skht3aljH4
https://dl.doubtnut.com/l/_nayWdZUf5fBK

° Watch Video Solution

17. A car attains a velocity of 54km/h (15m/s)
within 5second from an initial velocity of
18km/h(5m/s). Calculate its acceleration and

displacement.

o Watch Video Solution

18. Analyse the graphs given below.

Which graph indicates uniform velocity?


https://dl.doubtnut.com/l/_nayWdZUf5fBK
https://dl.doubtnut.com/l/_nXHIy0EcCObn
https://dl.doubtnut.com/l/_qAJuM4M5MLga
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https://dl.doubtnut.com/l/_qAJuM4M5MLga
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° Watch Video Solution



https://dl.doubtnut.com/l/_qAJuM4M5MLga

19. Analyse the graphs given below.

Which graph indicates non uniform velocity?
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https://dl.doubtnut.com/l/_qAJuM4M5MLga
https://dl.doubtnut.com/l/_B9Dd38ex6vlc
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o Watch Video Solution

20. Analyse the graphs given below.
Which graph indicates the motion of freely

falling stone?


https://dl.doubtnut.com/l/_B9Dd38ex6vlc
https://dl.doubtnut.com/l/_Ghk9hhPqjeYa
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https://dl.doubtnut.com/l/_Ghk9hhPqjeYa
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° Watch Video Solution



https://dl.doubtnut.com/l/_Ghk9hhPqjeYa

21. Write the equation of motion. What does

each letter indicate?

° Watch Video Solution

22. An object starting from rest travels with a

. . m
uniform acceleration of 5—2 . Calculate the
S

velocity and distance travelled after 1 minute?

° Watch Video Solution



https://dl.doubtnut.com/l/_Ghk9hhPqjeYa
https://dl.doubtnut.com/l/_Kkud0P9cSEez
https://dl.doubtnut.com/l/_z79igjPMJC96
https://dl.doubtnut.com/l/_uMYCFSg1Xsgp

23. Draw velocity-time graph on the basis of

the given table.

Time (s) ol s [10]15 |20 |25 |30 35| 40|
‘Velocity(m/s)} 0 | 10] 20|20 |20 {15]10]5 |O

o Watch Video Solution



https://dl.doubtnut.com/l/_uMYCFSg1Xsgp

